
1

2

3

5629 + 374 + 140 =

1 mark

1 × 715 =

1 mark

− 10 = 141
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4

5

6

2800 ÷ 2 =

1 mark

+ 60 = 515
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5.94 + 4.8 =

1 mark
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7

8

9

= 200 ÷ 4

1 mark

4620 ÷ 5 =

1 mark

5827 − 2973 =

1 mark
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10

11  

12

5965 × 10 =

1 mark

640 ÷ 8 =

1 mark

12 × 10 × 9 =

1 mark
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13

14

15  

1440 ÷ 12 =

1 mark

80000 − 80 =

1 mark

= 643 × 6

1 mark
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16

17

18

1.94 ÷ 10 =

1 mark

435 ÷ 15 =

1 mark

1
2 + 1

4 =

1 mark

3/25/25, 1:04 PM SATS - Key Stage 2 Arithmetic

https://mathsbot.com/primary/ks2 11/25



3/25/25, 1:04 PM SATS - Key Stage 2 Arithmetic

https://mathsbot.com/primary/ks2 12/25



19

20

21

8711 × 51 =

1 mark

69.71 × 1000 =

1 mark

1 1
6 + 3 5

6 =

1 mark
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22  of 

23

24

8
10 40 =

1 mark

9 − 6.208 =

1 mark

1
2  ÷ 3 =

1 mark
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25

26

27 % of 

1
2 + 1

5 =

1 mark

36 − 6.888 =

1 mark

40 5800 =

1 mark
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28 % of 

29

30 % of 

2 3000 =

1 mark

11 × 1.5 =

1 mark

80 231 =

1 mark
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31

32

33

1
4 × 3

8   =

1 mark

3 1
4 − 1

3 =

1 mark

1005 ÷ 67 =

1 mark
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34

35

36

11 − 5 1
4 =

1 mark

(10 + 3) × 5 =

1 mark

3 4
5  × 300 =

1 mark
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